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Run 5727 quartetwise, posH(O: Beam DIN

Run 5727 quartetwise, negHO: Beam DIN

Laser ON Entries: 68246 Entries: 50206 aam1_1ach._pocHo
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Run 5727 quartetwise, asym0Osub: Beam ON

- Laser ON Entries: 68246 Entries: 50296
— Mean: -31.3034 +- 0.0624 | Mean: -0.1212 +- 0.0502
— Laser OFF Std Dev: 24.1418 +- 0.0653 | Std Dev: 11.2583 +- 0.0355
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-------- Histogram Vars
Positive Hel (ON): 12.311943 +/- 0.005707
Negative Hel (ON): 13.025537 +/- 0.006051
Positive Hel (OFF): 1.238026 +/- 0.000980
Negative Hel (OFF): 1.240795 +/- 0.000984

-------- Sums and Diffs

On Diff: -0.713595 +/- 0.001739

Off Diff: -0.002770 +/- 0.001147
On Sum: 25.337480 +/- 0.011634

Off Sum: 2.478821 +/- 0.001594
-------- Asymmetries
On Asym: -31.217702 +/- -0.077727 (ppt)
Off Asym: -0.121158 +/- -0.050187 (ppt)
-------- Bkgd Subtraction

BkSub Sum: 22.858659 +/- 0.011743
BkSub Asym: -31.096544 +/- 0.092522 (ppt)

16



asym (AccO) / ppt

Run 5727 quartetwise, posHO vs time

14

posHO

12

10

i

|III__L_I_I"I |._IIIJII--+—|-—I-~+-I--|—I—LI | [T

W

0

A ine

i
: et
| A
| | | :-
| .
|
I

| I
H

IO VO g

IIIIIIIIIIII IIIIIIIII:";-IG

0

20 40 ﬂ 80 100 140 200
Entryd

1EIJ 180

Run 5727 quartetwise, asymQOsub vs time
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Run 5727 quartetwise, negHO vs time
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Run 5727 quartetwise, bcm vs time
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